Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V EXAMINATION -WINTER - 2018

Subject Code:3350501 Date: 27-11-2018
Subject Name:INDUSTRIAL MANAGEMENT
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q.1 Answer any seven out of ten. £21Hie{l SIOURL Uldetl ¥l 1Y), 14

1. Enlist four main qualities of a good leader
1L AURLaAdlell YR Yud IRl Y1l eilc)
2. Define EBQ & EOQ
2. EBQ&EOQ clul[Ad 521
3. What is float
3. 412 82
4.  Enlist four symbols used in Gantt Chart
¥, Olee YLEHI GUALIHI Adldl AR [Redledl ULEl weildl
5. What are the system variables
U (MeH udl g 82
6. What are various inventory models
€. [dldy 9edeei] Hlsed 9) 82
7.  Define value analysis
9. Ay Well[GRy cUulvAlRld 52 8
8.  What is SWOT analysis
¢.  SWOT Well[c@[dy ) 82
9. What is Critical Ratio
€. (521356 9 lldR g 82
10. What are therbligs?
Q0. Therbligs g 872
Q.2 (a) Explainabout scalar chain & Spam of control 04
USL2  (¥) AR st Wes W IH A1s 521d () yHomd) oY
OR
(a) Differentiate Line organization & Function organization 04
) 4 WA (AUl & §52Ust WA [AAR2lel A dslad WUl oy
(b) Enlist the factors effecting organizational culture 03
(0h) A&l S A WA 52l URUe] YU odetidl 03
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OR
Discuss about Delegation of authority.

NEREEEMERN N CFARCRRIENER!

Discuss about functions ofrmanagement.
NaeyNoeeil sl (A2 uUl 520

OR
What are the various approaches to management?

Naestee U2 (cfde w(HIAM) Q) 82

What are the responsibilities of store keeper?
IR slUzedl asaluelR] ) 9f 82

OR
Write a short note on purchasing procedure
WlEl ulsaul uR 251 «llt qu)

Write a short notes on Industrial Dispute Act
1&OLS (Adle SIAEL UR 251 oflt) gquil

OR
Discuss about different types of purchase methods

[cifay usiefl WlEl e (ddl (a9l yul 520

Discuss about the fgnctions of PPC
PPC sIT (A9l yu[ 53\

OR
Compare CPM & PERT

CPM el PERT «fl AWM (] 531
What is Gantt Chart and discuss about different types of Gantt Charts.

o2 AL 9 B A [Aldy Usletl Ao UL (AL AU 53
OR

Explain ABC analysis with appropriate diagram

19 A 15[ A1 A1l ([AsanlL AHxd)

What are the various approaches to management?
Noloytoe U2 [cde w4 [@a1H) Q) 82
OR
Explain the factors to be considered in forming the organization structure
deLS1U Ul L HIR el Adldl UReua qHosdl

Define value analysis & explain “DARASIRI” method of value analysis
Y& (qsdyRlel UL 53] wal Y& (dRNGlefl "DARASIRI" U, (ol
yHosCl

OR
Discuss about Questionnaire method of value analysis.

Y& [Asanelsfl usilael Ueg(d (A9l uul 530
Explain the relationship of material management with other departments.
o] (190 18 L[S AALeetstl Aoitllefl oL 2 1U)

OR
Differentiate between Job order production & Continuous production.
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0 1S Glltod el Udd Glleet A dslald

A project consisting of activities A to J. Their duration and precedence relations
are shown in the following table. Draw the network diagram and indicate the
critical path.

Activity A|B|C|D E F G H | J
Duration(Days) |2 |3 |4 |5 1 6 3 8 7 3
Predecessor A/A|/AB/AB|AC|AC|ABD|ACF|ACG

Ug(dudl dqHLlay as Wlogse . 9. dHell 24d (8l Wl WAL aoml o |Asi|
SIPSHI Wdlad M 11d 8. Aeds SIRUAIM €12) e (RIS HId[ .2Lld).

yd [t A|/B|C|D |E |F |G |H [ J
wd(y [eayql) |2 |3 4|5 1 |6 |3 |8 7 3
ST - |A|A|AB|AB|AC|AC|ABD|ACF|ACG

Determine the EOQ from the following data: Total Annual consumption: 50,000

kg, Total annual purchases: 10, 00,000 Rs/- Ordering cost: 125 Rs/- Carrying cost:

10% of stored material value.

o{13 w104l Seiuiell EOQ «iss] s3): se dllNs du12L: 50,000 (56, 54 dlNs
WREL 10, 00,000 2. / BILSREL WL 125 2. / - Aot WA BA(Sd uIHA
YRl 10%.

Write a short note on Workman Compensation Act.

A 50et Aol WE(AAH U s 28] oflt quil.

Explain two bin inventory model in detail

([@dddR & & Feder3] H134 A1 &

Differentiate centralized and decentralized store.

S[ogd wal [A¥ed] 5281 2212 M2 ULS B.
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